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1. The founder of ‘Bachpan Bachao Andolan’ is 

 1. Shanta Sinha 

 2. Kailash Satyarthi 

 3. Aruna Roy 

 4. Anil Agarwal 

 »�#Y|�H� �#�yÃ �+<ÃÞøH�µqT kÍ�|¾+ºqy�sÁT. 

 1. Xæ+Ô� d¾H�½ 

 2. Â¿Õý²dt d�Ô�«]� 

 3. nsÁTD²s�jYT 

 4. n�ýÙ n>·sYy�ýÙ 

  



2. This book of ancient India has the love story of son of the founder of 
Sunga Dynasty 

 1. Swapnavasavadutta 

 2. Malavikagnimitra 

 3. Meghadoota 

 4. Ratnavali 

 Xø�+>· s�Èe+XøeTT kÍ�|�Å£�� Å£�eÖsÁT� ç�|eT ¿£<�̧ >·\ çbÍNq uó²sÁÔá  

|�Úd�ï¿£eTT 

 1. d�Ç|��y�d�e<�Ôáï 

 2. eÖÞø$¿±Ð� $TçÔá 

 3. yûT|��T<�ÖÔá 

 4. sÁÔ��e[ 

 

3. This is not a Union Territory 

 1. Dadra and Nagar Haveli 

 2. Nagaland 

 3. Lakshadweep 

 4. Puducherry 

 ¹¿+ç<�bÍ*Ôá çbÍ+Ôá+ ¿±�~ 

 1. <�ç<� eT]jáTT H�>·sY V�²yû© 

 2. H�>±ý²+&� 

 3. \¿£�BÇ|t 

 4. |�Ú<�T#ûÌÛ] 

  



4. In 1939, Subhash Chandra Bose was elected as president of the 
congress party by defeating 

 1. Maulana Abul Kalam Azad 

 2. Pattabhi Sitaramayya 

 3. Jawaharlal Nehru 

 4. Gopala Krishna Gokhale 

 1939 d�+eÔáàsÁ+ýË M]� z&�+º d�Tuó²wt #á+ç<�uËdt ¿±+çÂ>dt bÍ¯¼  

n<ó�«Å£���>± m+|¾¿£jáÖ«sÁT. 

 1. eTòý²H� n�TýÙ ¿£ý²+ �C²<� 

 2. |�{²¼_ó oÔ�s�eTjáT« 

 3. ÈeV�²sYý²ýÙ HîçV�A 

 4. >ÃbÍ\¿£�w�� >ÃKýñ 

 

5. The reason for naming the virus as ‘Ebola’ is 

 1. The vaccine used to prevent it 

 2. A river in Congo, one of the first places of out break 

 3. The first person who was contacted by the virus 

 4. The physician who first detected the virus 

 »muËý²µ nHû �|sÁTqT ÿ¿£ yîÕsÁdtÅ£� �|³¼&��¿ì ¿±sÁD+ 

 1. <��� �y�]+#á&��¿ì �|�jîÖÐ+ºq y�¿¡àH� �|sÁT 

 2. yîTT³¼yîTT<�{ì>± y�«|¾+ºq çbÍ+Ôá+ýËqTq� ¿±+>Ã<ûXø+ýË q~ �|sÁT 

 3. yîTT<�{ìkÍ]>± � yîÕsÁdt kþ¿ìq e«¿ìï �|sÁT 

 4. yîTT³¼yîTT<�{ì kÍ]>± � yîÕsÁdtqT >·T]ï+ºq yîÕ<�T«� �|sÁT 

  



6. The headquarters of the “Organization of the Petroleum Exporting 
Countries” (OPEC) is situated in this city, country 

 1. Vienna, Austria 

 2. Kuwait City, Kuwait 

 3. Doha, Qatar 

 4. Baghdad, Iraq 

 »»�|ç{Ë*jáT+ m>·TeTÜ <ûXæ\ d�+d��µµ (OPEC) jîTT¿£Ø ç|�<ó�q ¹¿+ç<�+ >·\  

q>·sÁ+, <ûXø+ 

 1. $jáTH��, �çd¾¼jáÖ 

 2. Å£�yîÕ{Ù d¾{ì, Å£�yîÕ{Ù 

 3. <ÃV�², KÔ�sY 

 4. u²>±Ý<�, �s�¿ù 

 

7. ‘Good Governance Day’ is observed on the birthday of 

 1. Rajiv Gandhi 

 2. Lal Bahadur Sastri 

 3. Abdul Kalam 

 4. Atal Bihari Vajpayee 

 M] |�Ú{ì¼q sÃEq »>·T&� >·eÂs�H�à ~HÃÔáàeeTTµ >± ÈsÁT|�ÚÅ£�+{²sÁT. 

 1. s�Jy� >±+~ó 

 2. ý²ýÙ �V�²<�TsY Xæçd¾ï 

 3. n�TÝýÙ ¿£ý²+ 

 4. n³ýÙ _V�ä¯ y�CÙ�|sTT 

 

 

 



8. The longest river of Himachal Pradesh is 

 1. Jhelum 

 2. Beas 

 3. Chenab 

 4. Sutlej 

 V¾²eÖ#áýÙ ç|�<ûXÙýË nÜ bõ&�yîÕq q~. 

 1. J\+ 

 2. _jáÖdt 

 3. NH�uÙ 

 4. d�fÉ¢CÙ 

9. Consider the following. 

 A. Vamsadhara   B.  Indravati 

 C. Pranahita   D. Penna 

 The tributaries of Godavari River are 

 1. A and B 
 2. B, C and D 
 3. A, B and D 
 4. B and C 

 � ç¿ì+~ y�{ì� |�]>·Dì+#á+&�. 

 A. e+Xø<ó�sÁ   B. �+ç<�eÜ 

 C. çbÍDV¾²Ôá   D. �|H�� 

 M�ýË >Ã<�e] q~ �|�q<�T\T. 

 1. A eT]jáTT B 

 2. B, C eT]jáTT D 

 3. A, B eT]jáTT D 

 4. B eT]jáTT C 



10. The Nobel Prize ceremonies take place annually in this city (except 
peace prize) 

 1. London 

 2. Stockholm 

 3. Geneva 

 4. New York 

 ç|�Ü d�+eÔáàsÁ+ HÃuÉýÙ �V�QeTÔáT\qT � q>·sÁ+ýË ç|�<�q+ #ûkÍïsÁT (Xæ+Ü

�V�QeTÜ Ôá|�Î) 

 1. \+&�H� 

 2. kÍ¼¿ùV�²Ãy�T 

 3. CÉúy� 

 4. qÖ«jáÖsYØ 

 

11. This city of Andhra Pradesh is covered in the third list of ‘Smart 
Cities’ announced by Government of India on 20-9-2016 

 1. Tirupati 

 2. Kakinada 

 3. Vijayawada 

 4. Visakhapatnam 

 uó²sÁÔáç|�uó�TÔáÇ+ ç|�¿£{ì+ºq kÍ�sY¼ d¾{¡\ eTÖ&�e C²_Ô�ýË kÍ�q+ bõ+~q  

�+ç<ó�ç|�<ûXÙýË� q>·sÁ+ 

 1. ÜsÁT|�Ü 

 2. ¿±¿ìH�&� 

 3. $ÈjáTy�&� 

 4. $XæK|�³�+ 

 



12. In Central Cabinet, Minister of Environment, Forest and Climate 
Change is 

 1. Dr. Harsha Vardhan 

 2. Dr. Jitendra Singh 

 3. Ravi Shankar Prasad 

 4. Suresh Prabhu 

 ¹¿+ç<� eT+çÜ esÁZ+ýË |�]d�s�\T, n&�eÚ\T eT]jáTT y�Ô�esÁD eÖsÁTÎ\  

eT+çÜ 

 1. &�. V�²sÁüesÁÆH� 

 2. &�. �Ôû+ç<� d¾+>´ 

 3. sÁ$Xø+¿£sY ç|�kÍ<� 

 4. d�T¹swt ç|�uó�T 

 

13. The red beacons (lights) on top of any VIP vehicle was banned in 
our country from this date. 

 eTq<ûXø+ýË ç|�eTTKT\ y�V�²H�\�|Õ mçsÁ�T>·Z\qT (mçsÁ ¿±+Ü BbÍ\qT) � 

ÔûB qT+&� ��w~ó+#�sÁT. 

 1. 1-8-2017 

 2. 1-6-2017 

 3. 1-5-2017 

 4. 1-7-2017 

  

 

 

 

 



14. World’s largest Aircraft carrier built by U.S.A is named after 

 1. Theodore Roosevelt 

 2. Abraham Lincoln 

 3. George Washington 

 4. Gerald R.Ford 

 nyîT]¿± �]�+ºq nÜ�|<�Ý $eÖq y�V�²¿£Hê¿£Å£� M] �|sÁT �|³¼�&�+~. 

 1. ~¸jîT&ÃsY sÁÖCÙyîýÙ¼ 

 2. nç�V�ä+ *+¿£H� 

 3. C²]¨ y�w¾+>·¼H� 

 4. Â>s�ýÙ¦.�sY.b�þsY¦ 

 

15. This person was elected as vice chairman of the Press Trust of India 
(PTI) on 29-9-2018 

 1. N. Ravi 

 2. Vijay Kumar Chopra 

 3. Anil Agarwal 

 4. Jaswanth Singh 

 ç�|dt ç³dt¼ �|�t �+&�jáÖ (|¾{ì×) �bÍ<ó�«Å£���>± 29`9`2018q m��Â¿Õq  

y�sÁT 

 1. jáTH�. sÁ$ 

 2. $ÈjYT Å£�eÖsY #óÃçbÍ 

 3. n�ýÙ n>·sYy�ýÙ 

 4. Èd�Ç+ÔY d¾+>´ 

 

 

 



16. The first Arab country to send an unmanned probe “Hope” to orbit 
Mars is 

 1. Kuwait 

 2. Qatar 

 3. United Arab Emirates 

 4. Iran 

 n+>±sÁ¿£ ç>·V�²+ #áT³Ö¼ |�]çuó�$T+#û »»V�²Ã|tµµ nHû eÖqesÁV¾²Ôá sÃ<�dÓ  

Hê¿£qT |�+|�&��¿ì d¾<�ÆyîT®q yîTT<�{ì nsÁ�TÒ <ûXøeTT. 

 1. Å£�yîÕ{Ù 

 2. KÔ�sY 

 3. jáTTHîÕfÉ&� nsÁuÙ m$T¹s{Ùà 

 4. �s�H� 

 

17. This university lifted Maulana Abul Kalam Azad Trophy for the 23rd 
time 

 1. Guru Nanak Dev University 

 2. Punjab University 

 3. Kurukshetra University 

 4. Delhi University 

 eTòý²H� n�TýÙ ¿£ý²+ �C²<� ç{Ë|�Ó� 23e |�s�«jáTeTT �  

$XøÇ$<�«\jáTeTT #û�¿ìØ+#áT¿=+~. 

 1. >·TsÁTH�q¿ù <ûy� $XøÇ$<�«\jáTeTT 

 2. |�+C²uÙ $XøÇ$<�«\jáT+ 

 3. Å£�sÁT¹¿�çÔá $XøÇ$<�«\jáT+ 

 4. &ó�©¢ $XøÇ$<�«\jáT+ 

 



18. India – Pacific islands sustainable development conference was 
organized on 25th and 26th May, 2017 at  

 1. Nauru 

 2. Cook Islands 

 3. Samova 

 4. Suva 

 yûT Hî\ 2017 d�+eÔáàsÁ+ýË 25 eT]jáTT 26 ÔûB\ýË �+&�jáÖ`|�d¾|�¾¿ù  

BeÚ\ d�eTç>· n_óe�~Æ d�<�d�Tà �sÁÇV¾²+|��&�q #Ã³T 

 1. HêsÁT 

 2. Å£�¿ù BÇbÍ\T 

 3. d�yîÖy� 

 4. d�Ty� 

 

19. A 200 year old National Museum was destroyed due to fire accident 
on 2-9-2018 at 

 1. London 

 2. Rio de Janeiro 

 3. Paris 

 4. Istanbul 

 2`9`2018q Âs+&�T e+<�\ d�+eÔáàs�\ H�{ì C²rjáT ç|�<�sÁôqXæ\  

(Hûw�qýÙ eTÖ«�jáT+) � q>·sÁ+ýË È]Ðq nÐ�ç|�eÖ<��¿ì �V�QÜ nsTT+~ 

 1. \+&�H� 

 2. ]jîÖ &� ÈúsÃ 

 3. bÍ]dt 

 4. �kÍï+�TýÙ 

 



20. The country that has withdrawn from the ‘Paris Climate Accord’ on 
1-6-2017 is 

 1. Canada 

 2. U.S.A. 

 3. Brazil 

 4. Russia 

 »bÍ]dt y�Ô�esÁD ÿ|�Î+<�+µ qT+&� 1`6`2017q yîÕ<=\Ðq <ûXøeTT. 

 1. Â¿q&� 

 2. jáTT.mdt.m 

 3. çuÉ�ýÙ 

 4. sÁcÍ« 

  



 

 

21. The Committee which has given suggestions to arrest Wastage and 
Stagnation in Education is… 

 1. Hunter Commission  

 2. Hartog Committee 

 3. Sargent Committee 

 4. Iswaribai Patel Committee 

 $<�«ýË n|�e«jáT+, �\T|�Ú<�\qT n]¿£³¼&��¿ì d�Ö#áq*ºÌq ¿£$T{¡ 

 1. V�²+³sY ¿£MTw�H� 

 2. V�äs�¼>´ ¿£$T{¡ 

 3. kÍsÁ̈+{Ù ¿£$T{¡ 

 4. �XøÇ¯u²jT |�fñýÙ ¿£$T{¡ 

 

22. The first school for girl children of lower castes was started by 

 1. Mahatma Jyothiba Pule 

 2. Mahatma Gandhi 

 3. Vijayalakshmi Pandit 

 4. Durgabai Deshmukh 

 �eT�C²Ü u²*¿£\ ¿Ãd�+ yîTT<�³>± bÍsÄÁXæ\qT kÍ�|¾+ºq y�sÁT 

 1. eTV�äÔ�� CË«Üu² |�Pýñ 

 2. eTV�äÔ��>±+Bó 

 3. $ÈjáT\¿ì�� |�+&�{Ù 

 4. <�Ts�Zu²jYT <ûXÙeTTUÙ 



23. One of the following belongs to thinking skills which is a category 
of life skills: 

 1. Coping up with stress 

 2. Effective Communication 

 3. Creative thinking 

 4. Interpersonal Relationship 

 JeqHîÕ|�ÚD²«\ýË uó²>·+>±, � ç¿ì+~ y��ýË ÿ¿£{ì �ýË#áH� HîÕ|�ÚD²«�¿ì  

d�+�+~ó+ºq~. 

 1. ÿÜï&�� n~ó>·$T+#á&�+ 

 2. ç|�uó²eo\ uó²ee«¿¡ï¿£sÁD 

 3. d��ÈH�Ôá�¿£ �ýË#áq 

 4. e«Å£�ï\ eT<ó�« |�sÁd�ÎsÁ d�+�+<ó�\T 

 

24. ‘Sundering the children with special needs from general schools is 
nothing but violation of human rights – stated by 

 1. Benda 

 2. UNESCO 

 3. Christensen 

 4. Smith, Naisworth 

 »ç|�Ôû«¿£ ned�s�\T >·\ |¾\¢\qT kÍ<ó�sÁD bÍsÄÁXæ\ qT+&� yûsÁT#ûjáT&�+ 

eÖqeV�²Å£�Ø\ �\¢+|��Tqµ n� �|s=Øq�y�sÁT 

 1. uÉ+&� 

 2. jáTTHîkþØ 

 3. ç¿ì�d¼H�d�H� 

 4. d¾�ÔY, HîsTTdtesYï 

 



25. The general type of register which is maintained in the school under 
Records and Registers is: 

 1. Laboratory Register 

 2. Library Book Register 

 3. Ledger 

 4. Logbook 

 bÍsÄÁXæ\ýË �sÁÇV¾²+#á�&û ]¿±sÁT¦\T, ]�w�¼sÁ¢ýË kÍ<ó�sÁD sÁ¿±�¿ì #î+~q~ 

 1. ç|�jîÖ>·Xæ\ ]�w�¼sY 

 2. ç>·+<¸�\jáT |�Úd�ï¿±\ ]�w�¼sY 

 3. ýÉ&�̈sY 

 4. ý²>´�T¿ù 

 

 

26. Both in Centre and State of Andhra Pradesh the Ministry of 
Education was named as  

 1. Ministry of Human Resource Development 

 2. Ministry of Health Resource Development 

 3. Ministry of Human Records Development 

 4. Ministry of Home Affairs 

 ¹¿+ç<�+ýËqÖ, �+ç<ó�ç|�<ûXÙýËqÖ $<�«eT+çÜÔáÇ XæK � ç¿ì+~ XæK>±  

|¾\Te�&�T#áTq�~. 

 1. eÖqe eqsÁT\ n_óe�~Æ eT+çÜÔáÇ XæK 

 2. �sÃ>·« eqsÁT\ n_óe�~Æ eT+çÜÔáÇ XæK 

 3. eÖqe ]¿±sÁT¦\ n_óe�~Æ eT+çÜÔáÇ XæK 

 4. V�²Ãy�T eT+çÜÔáÇ XæK 

 
 



27. The disease occurs due to the deformities in Chromosomes is 

 1. Cretinism 

 2. Hydrocephalus 

 3. Down’s Syndrome 

 4. Phobia 

 ç¿ÃyîÖCËeTT\ n|�d�e«Ôá e\q e#áTÌ y�«~ó: 

 1. çÂ¿{ì�È+ 

 2. �VÕ²ç&Ãd¾b�Í\dt 

 3. &êH�à d¾+ç&Ãy�T 

 4. b�þ_jáÖ 

 

28. The year from which the Model Schools were started functioning in 
Andhra Pradesh State is 

 �+ç<ó�ç|�<ûXÙ s�çw�¼+ýË yîÖ&�ýÙ d�ÖØýÙà � d�+eÔáàsÁ+ qT+&� |��#ûjáT&�+  

çbÍsÁ+_ó+#�sTT. 

 1. 2011 

 2. 2012 

 3. 2013 

 4. 2014 

 

 

 

 

 



29. Under this section of RTI Act, any officer rejects the application, 
denies giving information, giving wrong information, the complaint 
may be given directly to the State Information Commission: 

 RTI jáÖÅ£�¼ýË � �d¿£�H� ç¿ì+<� @ ¿±s�«\jáT+ jîTT¿£Ø n~ó¿±]jî®Tq, <�sÁU²d�Tï 

dÓÇ¿£]+#á¿£bþsTTq, d�eÖ#�sÁ+ �eÇ&��¿ì �s�¿£]+ºq, Ôá|�ÚÎ&�T d�eÖ#�s��� 

�ºÌq, s�çw�¼ d�eÖ#�sÁ ¿£MTw�H�Å£� HûsÁT>± |�¾s�«<�T #ûjáTe#áTÌqT. 

 1. 11 (1) 

 2. 12 (1) 

 3. 18 (1) 

 4. 19 (1) 

 

30. In the preparation of Question Paper - Reliability means: 

 1. To achieve the desired objectives 

 2. Obtaining the same mark even if it is valued by two different 
 examiners 

 3. Specifying the accurate answers for evaluation  

 4. Convenient to conduct the exam, evaluate and to interpret the 
 results 

 ç|�Xæ�|�çÔ�\ ÔájáÖ¯ýË $XøÇd�újáTÔá nq>± 

 1. �¥+ºq \¿�±«\T kÍ~ó+|��&�&�+ 

 2. ÿ¿£ Èy��T |�çÔ���  yû¹sÇsÁT |�̄ ¿£�Å£�\T ~~ÝH� ÿ¹¿ $<ó�yîT®q 

eÖsÁTØ\T s�e&�+ 

 3. eTÖý²«+¿£H��¿ì d�]jî®Tq d�eÖ<ó�H�\T d�Îw�¼+#ûjáT&�+ 

 4. |�̄ ¿£� �sÁÇV�²DÅ£�, ~<�Ý&��¿ì, |��*Ô�\T y�«U²«�+#á&��¿ì nqTeÚ>± 

�+&�&�+ 

 

 



  
 

 

31. A teacher of class IX assigned different activities to different 
students. The most appropriate reason you perceive for this is  

 1. To prevent copying the task 

 2. Students like Games 

 3. Early completion of syllabus 

 4. Each child is unique 

 9e ÔásÁ>·Ü �bÍ<ó�«jáTT&�T yû¹sÇsÁT |¾\¢\Å£� $$<ó� ¿£�Ô�«\qT nuó²«d�+>±  

sTT#�ÌsÁT. B�¿ì nÜ ç|�<ó�q ¿±sÁD+>± MTsÁT B�� uó²$kÍïsÁT.  

 1. ¿±|Ó#ûjáTÅ£�+&� �sÃ~ó+#á&��¿ì 

 2. $<�«sÁT�\T �³\qT sTTw�¼|�&�Ô�sÁT 

 3. d¾\udtqT ÔáÇsÁ>± |�P]ï#ûjáT&�+ 

 4. ç|�Ü ÿ¿£Ø |¾\¢y�&�T ç|�Ôû«Å£�&�T 
 

  



32. In your class, one student is very kind, gentle and virtuous. All the 
students and teachers named him as “Vivekananda”. According to 
Freud his state of personality is 

 1. Id 

 2. Ego 

 3. Super Ego 

 4. Libido 

 MT ÔásÁ>·ÜýË ÿ¿£ $<�«]� mÅ£�Øe <�jáT, �<�q+ eT]jáTT H�«jáT�T~Æ  

>·ýy�&�T. bÍsÄÁXæ\ýË�  |¾\¢\T, �bÍ<ó�«jáTT\T n+<�sÁÖ nÔá��  

»$yû¿±q+<�T�>±µ |¾\TkÍïsÁT. çb�ÍsTT&� ç|�¿±sÁ+ nÔá� eTÖ]ïeTÔáÇd¾�Ü 

 1. nºÔáTï 

 2. nV�²+ 

 3. n<ó�·«V�²+ 

 4. *_&Ã 
 

33. In your class you are observing that Siddhartha is bullying every 
time. Which of the following method you adapt to rectify his 
undesirable behaviour    

 1. Request the parents to provide counselling 

 2. Request the headmaster to provide counselling 

 3. Analyse the reason and provide counselling 

 4. Ask him to sit on the last bench. 

 MT ÔásÁ>·ÜýË d¾<�ÆsÁ� m|�ÚÎ&�Ö <î�Òý²&�TÔáÖ+&�&�+ MTsÁT >·eT�+#�sÁT. nÔá� 

nqTºÔá ç|�esÁïqqT d�]~<�Ý&��¿ì úeÚ nqTd�]+#û |�<�ÆÜ. 

 1. ¿��à*+>´ sTT|¾Î+#áe\d¾q~>± Ôá*¢<�+ç&�T\qT ¿ÃsÁTÔ�sÁT 

 2. ¿��à*+>´ sTT|¾Î+#áe\d¾q~>± ç|�<ó�HÃbÍ<ó�«jáTT�� ¿ÃsÁTÔ�sÁT 

 3. ¿±sÁD²�� $Xâ¢w¾+º ¿��à*+>´ sTTkÍïsÁT 

 4. nÔá�� ÔásÁ>·ÜýË ºe] uÉ+ºýË Å£Ls=ÌqeT� #î|�ÚÔ�sÁT 
 



34. Avinash believes re-organisation of the perceptual field belongs to 
the process and product of thinking. This is related to the following 
theory.  

 1. The Gestault theory  

 2. The behaviouristic learning theory 

 3. Bruner’s theory of cognitive development  

 4. Freud Psycho-analytic theory of thinking 

 �+ç~jáTC²ãq |�ÚqsYe«edÓ�¿£sÁD nHû~ �ýË#áq jîTT¿£Ø ç|�ç¿ìjáT eT]jáTT  

|��*Ô��¿ì d�+�+~ó+º eÚ+³T+<�� n$H�wt qeTT�Ô�sÁT. �~ ç¿ì+~  

d¾<�Æ+Ô��¿ì #î+~q~ 

 1. Â>kÍ¼ýÙ¼ d¾<�Æ+Ôá+ 

 2. ç|�esÁïáH�y�<� nuó�«d�q d¾<�Æ+Ôá+ 

 3. ç�ÖqsY d�+C²ãH�Ôá�¿£ $¿±d� d¾<�Æ+Ôá+ 

 4. �ýË#áq >·T]+º çb�ÍsTT&� jîTT¿£Ø eTHÃ$Xâ¢w�D d¾<�Æ+Ôá+ 
 

 

35. Rajesh revises the portion of syllabus periodically to strengthen his -  

 1. Short – term memory  

 2. Immediate memory  

 3. Long – term memory 

 4. Sub conscious memory 

 s�Cñwt Ôáq d¾\�dtqT ç¿£eT¿±ý²ýË¢ |�ÚqXøÌsÁD #ûjáT&�+ <�Çs� � d�� �Ü�  

�ýË�|Ôá+ #ûd�T¿=+{²&�T 

 1. d�Ç\Î¿±*¿£ d�� �Ü 

 2. Ôá¿£�D d�� �Ü 

 3. BsÁé¿±\ d�� �Ü 

 4. �|�#ûÔáq d�� �Ü 
 



36. Rekha did not like doing her homework. However her teacher started 
praising her for her performance in the class leaving her slackness in 
doing home work. She started being regular with home work in 
order to please her teacher. This is an example of  

 1. Negative reinforcement  

 2. Guidance 

 3. Positive reinforcement 

 4. No reinforcement 

 V�²Ã+esYØ #ûjáT&�eT+fñ ¹sKÅ£� sTTw�¼+ eÚ+&�<�T. {¡#ásY �yîT jîTT¿£Ø V�²Ã+esYØ 

#ûjáT&�+ýË� �sÁ¢¿�±«�� |�¿£Øq�|{ì¼ �yîT ÔásÁ>·Ü kÍ<ó�qqT yîT#áTÌ¿Ãe&�+  

çbÍsÁ+_ó+º+~. �bÍ<ó�«jáTTs�*� d�+ÔÃw�|�sÁ#á&��¿ì �yîT V�²Ã+esYØ  

#ûjáT&�+ýË Âs>·T«\sY>± eÖ]+~. �~ ç¿ì+~ <��¿ì �<�V�²sÁD 

 1. sÁTD²Ôá�¿£ |�ÚqsÁÒ\q+ 

 2. eÖsÁZ<�sÁôq+ 

 3. <ó�H�Ôá�¿£ |�ÚqsÁÒ\q+ 

 4. |�ÚqsÁÒ\q+ ýñ<�T 

 

  



37. Ratnakar is an intelligent student in class X. His classmate Ravi 
scolded him as ‘idiot’ for not allowing him to copy from his answer 
sheet, with regard to IQ, Ravi is wrong because. 

 1. Ratnakar’s IQ is 70-89 

 2. Ravi’s IQ is 90-109 

 3. Ratnakar is intelligent 

 4. Idiots IQ is greater than 140 

 sÁÔ��¿£sY |�<�e ÔásÁ>·ÜýË Ôî*yîÕq $<�«]�. Ôáq �||�sYqT  

¿±|Ó¿=³¼&��¿ì �s�¿£]+ºq+<�Tq nÔá� ¿±¢dtyûT{Ù sÁ$, sÁÔ��¿£sYqT »eTÖ&ó�T&�Tµ

n� �+~+#�&�T. ç|�C²ã\_Æ ç|�¿±sÁ+ sÁ$ eÖ³\T Ôá|�ÚÎ. n+<�TÅ£� ¿±sÁD+ 

 1. sÁÔ��¿£sY ç|�C²ã\_Æ  70`89 

 2. sÁ$ ç|�C²ã\_Æ  90`109 

 3. sÁÔ��¿£sY Ôî*yîÕqy�&�T  

 4. eTÖ&ó�T\ ç|�C²ã\_Æ 140 ¿£+fñ mÅ£�Øe 

 
 

38. Kamala was adjudged as a well adjusted girl by her teachers. One of 
the following characteristics is not related to her 

 1. Respecting herself and others 

 2. Absence of fault finding attitude 

 3. Flexibility in behaviour 

 4. An unrealistic perception of the world 

 ¿£eT\ eT+º d�sÁTÝu²³T>·\ neÖ�sTT>± �bÍ<ó�«jáTT\#û �sÁ�sTT+#á�&�+~.  

ç¿ì+~ \¿£�D²\ýË �yîTÅ£� d�+�+~ó+#á�~ 

 1. ÔáqqTÔ�qT, �ÔásÁT\qT >�sÁ$+#û~ 

 2. Ôá|�ÚÎqT yîÜ¹¿ >·TD+ ýñ¿£bþe&�+ 

 3. ç|�esÁïqýË qeT«Ôá 

 4. ç|�|�+#á+ >·T]+º ny�d�ïe <��¿£Î<�̧+ 



39. According to Maslow’s theory of hierarchy of needs, the following 
statement is related to the most basic needs of human beings. 

 1. Ramana is doing yoga for self actualization  

 2. Pratap is struggling to become student leader 

 3. Gopi is hungry, he is in need of food 

 4. Sita is an orphan, craves for love 

 eÖkþ¢ ned�s�\ nqTç¿£eTDì¿£  d¾<�Æ+Ôá+ ç|�¿±sÁ+ ç¿ì+~ ç|�e#áH�ýË¢ ÿ¿£{ì 

eÖqeÚ� çbÍ<�̧$T¿£ ned�s�\Å£� d�+�+~ó+ºq~. 

 1. �Ôá�kÍ¿�±Ô�ØsÁ+ ¿Ãd�+ sÁeTD jîÖ>± #ûd�TïH��sÁT 

 2. $<�«]� H�jáTÅ£�&�T>± ¿±y�\� ç|�Ô�|t �sÁ+ÔásÁ+ bþs�&�TÔáTH��&�T 

 3. >Ã|¾¿ì �¿£*>± �+~, �V�äsÁ+ ned�sÁ+>± �+~ 

 4. dÓÔá nH�<�̧, �bÍ«jáTÔá¿Ãd�+ �s�³|�&�TÔÃ+~ 

 
 

40. Mr. Chandra Sekhar is class X English teacher. Every student likes 
him because, he 

 1. Encourages rote memory. 

 2. Allows them for group discussions 

 3. Engages himself in continuous lecturing 

 4. Liberal in assessment 

 #á+ç<�XâKsY 10e ÔásÁ>·Ü �+^¢w�§ {¡#ásY. ç|�r $<�«]� nÔá��  

�w�¼|�&�Ô�sÁT. B�¿ì ¿±sÁD+ nÔá&�T, 

 1. �{¡¼ d�� �Ü� çbþÔáàV¾²kÍïsÁT 

 2. È³T¼ #ásÁÌýË¢ bÍý¤Zq&��¿ì y�]¿ì nqTeTÜkÍïsÁT 

 3. �sÁ+ÔásÁ+ �|�H�«kÍ*eÇ&�+ýË nÔá&�T �eT>·�eT>·TÔáÖ �+{²&�T 

 4. eT~+|�Ú #ûjáT³+ýË �<�sÁ+ 

  



MATHS – CONTENT  

 

 

41. The population of a town increases by 20% every year of its 
population is 2,16,000 then its population 2 years ago is 

ÿ¿£ |�³¼D+ jîTT¿£Ø ÈH�uó² ç|�r d�+eÔáàsÁ+ 20% e�~Æ#î+<�TÔáT+~. ç|�d�TïÔá 

|�³¼D ÈH�uó² 2,16,000 nsTTq 2 d�+öö ç¿ìÔá+ ÈH�uó² 
 1. 1,50,000 

 2. 1,72,800 
 3. 1,94,000 
 4. 1,61,400 
 

42. The compound interest calculated yearly at 10% on a certain sum of 
money amounts to ` 665.50 in the fifth year then the C.I for the 
fourth year on the same sum at the same rate is  

¿=+Ôá yîTTÔ�ï�¿ì d�+eÔáàs��¿ì ÿ¿£kÍ] e&�¦ ýÉ¿ìØ+#áT |�<�ÆÜq 10% e&�¦¹s³T 

#=|�ðq 5 d�+öö\ H�{ì¿ì njûT« #áç¿£e&�¦ ` 665.50 nsTTq n<û yîTTÔ�ï�¿ì  

n<û e&�¦¹s³Tq 4e d�+eÔáàs��¿ì njûT« e&�¦ 

 1. ` 498.95 

 2. ` 552.50 

 3. ` 605.00 

 4. ` 625.50 
  



43. The compound ratio of squares of the ratio 5 : 6 and the reciprocal 
ratio of 25 : 42 is  

5 : 6 jîTT¿£Ø es�Z\ �w�ÎÜï eT]jáTT 25 : 42 jîTT¿£Ø $ýËeT �w�ÎÔáTï\  

�V�QÞø �w�ÎÜï 

 1. 7 : 6 

 2. 7 : 5 
 3. 6 : 7 
 4. 5 : 7 
 

44. The length of rectangle is increased by 20% and breadth is decreased 
by 10% then the percentage increasing in the area is   

ÿ¿£ BsÁé#áÔáTsÁçd�+ jîTT¿£Ø bõ&�eÚqT 20% �|+º eT]jáTT yî&�\TÎýË 10%  

ÔáÐZ+#á>± <�� yîÕXæ\«+ýË �|sÁT>·T<�\ XæÔá+ 

 1. 6% 

 2. 8% 
 3. 10% 
 4. 15% 
 

45. If  x + 5 is the mean proportion between  x + 2 and  x + 9  then the 
value of  ‘x’ is  

x + 2  eT]jáTT x + 9 \ nqTbÍÔá eT<ó�«eT+ x + 5 nsTTq ‘x’ $\Te 

 1. 2 

 2. 5 
 3. 7 

 4. 9 
  



46. A person bought two articles for each ` 3000.  He sold one article at 
a gain of 20% and other one at a loss of 10% then the percentage of 
gain on whole transaction is  

ÿ¿£ e«¿ìï Âs+&�T ed�TïeÚ\qT ÿ¿=Ø¿£Ø{ì ` 3000 \Å£� ¿=H��&�T. ÿ¿£ ed�TïeÚqT 

20% ý²uó²�¿ì eT]jáTT eTs=¿£ <��� 10% qcÍ¼�¿ì n$T�q yîTTÔáï+ MT<�  

nÔá�¿ì e#ûÌ ý²uó�XæÔá+  

 1. 15% 

 2. 10% 
 3. 8% 
 4. 5% 
 

47. A card is randomly choosen from a pack of cards with numbers  
1 to 200 then the probability of that card number is a perfect square 
is 

1 qT+&� 200 esÁÅ£� d�+K«\T çy�d¾q ÿ¿£ ¿±sÁT¦\ ¿£³¼ qT+&� jáÖ<��ºÌÛ¿£+>±

ÿ¿£ ¿±sÁT¦qT mqT�¿=q>± n~ |�]|�PsÁ� esÁZd�+K« njûT« d�+uó²e«Ôá  

 1. 0.07 
 2. 0.7 
 3. 0.12 

 4. 0.13 
 

  



48. A card is drawn randomly from a well shuffled pack of cards then 
the probability of that card is red numbered card is  

u²>± ¿£\T|��&�q �|¿£¿£³¼qT+&� jáÖ<��ºÌÛ¿£+>± ÿ¿£ ¿±sÁT¦qT rjáT>± n~  

msÁT|�Ú d�+K« ¿±sÁT¦ n>·T³Å£� >·\ d�+uó²e«Ôá 

 1. 9
13

 

 2. 
13
10  

 3. 9
26

 

 4. 10
26  

 

49. The mean of 1, 7, 5, 3, 4 and 4 is m, the mean of 3, 2, 4, 2, 3, 3 and P 
is m–1 and median Q then the average of P and Q is  

1, 7, 5, 3, 4 eT]jáTT 4 \ jîTT¿£Ø n+¿£eT<ó�«eT+ m eT]jáTT 3, 2, 4, 2,

3, 3 eT]jáTT P \ jîTT¿£Ø n+¿£eT<ó�«eT+ m–1 eT]jáTT eT<ó�«>·Ôá+ Q 

nsTTq P eT]jáTT Q \ d�s�d�] 

 1. 2.5 
 2. 3 
 3. 3.5 

 4. 4 
 

 

 

 

  



50.  

 The model class of the above data is 

�|Õ <�Ô�ï+Xø+ jîTT¿£Ø u²V�QÞø¿£ ÔásÁ>·Ü 

 1. 20 – 30  

 2. 30 – 40  
 3. 40 – 50  
 4. 50 – 60  

 

51. The median of the observations 11, 12, 14, x–2, x+4, x+9, 32, 38 
arranged in ascending order is 24 then the mean of the observation is 

�sÃV�²D ç¿£eT+ýË neTsÁÌ�&�q |�]o\q\T 11, 12, 14, x–2, x+4, x+9, 32, 
38 \ jîTT¿£Ø eT<ó�«>·Ôá+ 24 nsTTq |�]o\q\ jîTT¿£Ø n+¿£eT<ó�«eTeTT 

 1. 197
8

 

 2. 191
8

 

 3. 189
8

 

 4. 187
8

 

 
 

  

Class Interval 
ÔásÁ>·Ü n+ÔásÁ+ 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

Cumulative frequency 
d�+ºÔá båq'|�Úq«+ 7 21 34 46 66 77 92 100 



52. The mean deviation of the data 2, 9, 9, 3, 6, 9, 4 from the mean is  

2, 9, 9, 3, 6, 9, 4 <�Ô�ï+XøeTTqÅ£� n+¿£eT<ó�«eT+ qT+&� eT<ó�«eT $#á\q+ 

 1. 15
7

 

 2. 16
7

 

 3. 18
7

 

 4. 22
7  

 

53. The standard deviation of the data 6, 5, 9, 13, 12, 8, 10 is 

6, 5, 9, 13, 12, 8, 10 <�Ô�ï+Xø+ jîTT¿£Ø çbÍeÖDì¿£ $#á\q+ 

 1. 52
7

 

 2. 6  

 3. 52
7

 

 4. 6 
 

  



54. If the variance of the data 2, 4, 5, 6, 8, 17 is 23.33 then variance of   
4, 8, 10, 12, 16, 34 will be  

2, 4, 5, 6, 8, 17 <�Ô�ï+Xø|�Ú $d�ï�Ü 23.33 nsTTq 4, 8, 10, 12, 16, 
34 <�Ô�ï+Xø|�Ú $d�ï�Ü 

 1. 23.33  

 2. 23.33 
 3. 46.66 

 4. ( )223.33  
 

55. Cos 38o  Sec (90o – 2A) = 1 then the value of angle ‘A’ is  

Cos 38o  Sec (90o – 2A) = 1 nsTTq ‘A’ ¿ÃD+ $\Te 

 1. 52o 

 2. 38o 

 3. 26o 

 4. 19o 
  



56. The length of the shadow of vertical tower on ground increases by 
10m, when the altitude of the Sun changes from 45o to 30o then the 
height of the tower is (in meters) 

ÿ¿£ �{²sÁT d�ï+uó�+ jîTT¿£Ø ú&� bõ&�eÚ d�ÖsÁT«�ÔÃ #û�d ¿ÃD+ 45
+
 qT+&�  

30
+
 ¿ì eÖ]q|�Ú&�T 10 MT. �|sÁT>·TÔáT+~. nsTTq � d�ï+uó�+ mÔáTï (MTöö\ýË) 

 1. ( )10 3 1+  

 2. ( )10 3 1-  

 3. ( )5 3 1-  

 4. ( )5 3 1+  

 

57. Given positive integers a and b there exists unique pair of integers     
α and γ satisfying a = bα + γ then γ lie between   

a = bα + γ njûT«$<ó�+>± <ó�q|�PsÁ�d�+K«\T a  eT]jáTT b  \ ÈÔáÅ£� 

α eT]jáTT γ @Â¿Õ¿£ |�PsÁ�d�+K«\T e«ed¾�ÔáyîT®Ôû M�eT<ó�« eÚ+&û γ $\Te 

 1. 0 < γ  < b 
 2. 0 < γ  ≤ b 
 3. 0 ≤ γ  < b 

 4. 0 ≤ γ  ≤ b 
 

  



58. The least number which must be subtracted from 4215 to make it a 
perfect square. 

4215 |�]|�PsÁ� esÁZ+ n>·T³Å£� rd¾yûjáTe\d¾q nÜºq� ¿£�w�÷ d�+K« 

 1. 117 

 2. 118 
 3. 119 

 4. 120 
 

59. 1 1x x x+ - - =  then the value of ‘x’ is 

1 1x x x+ - - =  nsTTq ‘x’  $\Te 

 1. 3
5

 

 2. 1 

 3. 4
5

 

 4. 16
25

 

 

60. If  log4 log2 log3(x–2009) = 0 then the value of ‘x’ is  

log4 log2 log3(x–2009) = 0  nsTTq ‘x’ $\Te 

 1. 2018 

 2. 2015 
 3. 2012 
 4. 2009 

  



61. The value of 583 – 243 - 343 

583 – 243 - 343  
$\Te 

 1. –141984 

 2. –149184 
 3. 141984 
 4. 149184 
 

62. If the roots of the equation (b–c) x2 + (c–a) x + (a–b) = 0 are equal 

then the value of  a c
b
+   is   

(b–c) x2 + (c–a) x + (a–b) = 0 esÁZd�MT¿£sÁD eTÖý²\T d�eÖqyîT®q 

a c
b
+  $\Te 

 1. 4 
 2. 3 

 3. 2 
 4. 1 
 

63. No. of sub sets of a Set A = {x : xÎN and 2 < x < 7} 

d�$TÜ A = {x : xÎN eT]jáTT 2 < x < 7} nsTTq d�$TÜ A ýË >·\ 

�|�d�$TÔáT\ d�+K« 

 1. 4 

 2. 8 
 3. 12 
 4. 16 

  



64. The number of integers lie between the squares of 63 and 64 is  

63 eT]jáTT 64 d�+K«\ es�Z\ eT<ó�«>·\ |�PsÁ�d�+K«\ d�+K« 

 1. 128 
 2. 126 

 3. 124 
 4. 120 
 

65. The trisection points of line joining (2, –6), (–4, 8) is    

 _+<�TeÚ\T (2, –6) eT]jáTT (–4, 8) \qT ¿£\T|�Ú ¹sU²K+&�eTT jîTT¿£Ø 

çÜ<ó�¿£sÁD _+<�TeÚ\T 

 1. 8 4 10,  2,  
3 3 3

- -æ öæ ö
ç ÷ç ÷
è øè ø

 

 2. 8 4 10 10,  ,  
3 3 3 3

- -æ öæ ö
ç ÷ç ÷
è øè ø

 

 3. 4 100,  2,  
3 3

-æ öæ ö-ç ÷ç ÷
è øè ø

 

 4. 4 100, 2, 
3 3

æ öæ ö
ç ÷ç ÷
è øè ø

 

  



66. The quadrilateral which is formed by the points (–7, –3), (5, 10),  
(15, 8) and (3, –5) is   

 1. Parallelogram 

 2. Square 
 3. Rectangle 
 4. Rhombus 

(–7, –3), (5, 10), (15, 8)  eT]jáTT (3, –5)  _+<�TeÚ\ÔÃ @sÁÎ&�T 

#áÔáTsÁTÒÛÈeTT jîTT¿£Ø sÁ¿£eTT  

1. d�eÖ+ÔásÁ #áÔásÁTÒÛÈeTT 

2. #áÔáTsÁçd�+ 

3. BsÁé#áÔáTsÁçd�+ 

4. s�+�dt 

 

67. If  3 2 3 0a x b x c+ + =  then 3 2 3 3a x b x c+ +  is equal to  

3 2 3 0a x b x c+ + =  nsTTq 
3 2 3 3a x b x c+ +  Å£� d�eÖqyîT®q $\Te 

 1. 27 abc x 

 2. 1
3

 abc x 

 3. 3abc x 

 4. 1
27

 abc x 

 
  



68. If a and b are the roots of the equation  ax2 + bx + c = 0 then the 
value of   a4 b7 + a7 b4  is    

 ax2 + bx + c =  0  jîTT¿£Ø eTÖý²\T a, b \T nsTTq a4 b7 + a7 b4 
jîTT¿£Ø $\Te 

 1. ( )
3

2
6 3bc ac b

a
-  

 2. ( )
4

2
6 6b c ac c

a
-  

 3. ( )
4

2
7 3bc ac b

a
-  

 4. ( )
4

2
7 5ab ac b

c
-  

 

69. If  (K + 2), (4K – 6) and (3K – 2) are in Arithmetic progression then 
the product of 5th and 10th term is  

(K + 2), (4K – 6) eT]jáTT (3K – 2) \T n+¿£çXâ&ó�ýË eÚq� 5e |�<�eTT 

eT]jáTT 10e |�<�\ \�Ý+ 

 1. 116 

 2. 126 
 3. 136 
 4. 106 
 

 

  



70. If  3A + B = 18x2 – 2xy + 2y2 and A – B = 2x2 – 6xy + 2y2 then the 
expression of  A  is  

3A + B = 18x2 – 2xy + 2y2  eT]jáTT A – B = 2x2 – 6xy + 2y2  nsTTq 

d�eÖd�eTT A 

 1. 5x2 + 2xy + y2   

 2. –5x2 – 2xy + y2   

 3. 5x2 – 2xy + y2 

 4. 5x2 – 2xy – y2 

 

71. The perimeters of a square and a rectangle are equal.  If the side of 
the square is 25m and the length of the rectangle is 30m, then the 
ratios of areas of square and rectangle are   

ÿ¿£ #áÔáTsÁçd�eTT eT]jáTT BsÁé#áÔáTsÁçd�eTT\ #áT³T¼¿=\Ôá\T d�eÖqeTT.   

#áÔáTsÁçd� uó�TÈeTT 25MT. eT]jáTT BsÁé#áÔáTsÁçd�eTT jîTT¿£Ø bõ&�eÚ 30MT.  

nsTTq #áÔáTsÁçd�, BsÁé#áÔáTsÁçd� yîÕXæ\«eTT\ �w�ÎÜï 

 1. 24 : 25 
 2. 34 : 25 
 3. 25 : 24 

 4. 35 : 34 
 

  



72. A toy is in the form of a cone mounted on hemisphere.  If the 
diameter of the base and the height of the cone are 12cm and 8cm 
respectively then the surface area of the toy is (in cm2) 

ÿ¿£ �³ed�TïeÚ nsÁ�>ÃÞøeTT�|Õ �{²sÁT>± �\Te�&�q Xø+Å£�eÚ eýÉ jáTTq�~.  

Xø+Å£�eÚ jîTT¿£Ø uó�Öy�«d�eTT eT]jáTT mÔáTï\T esÁTd�>± 12�d+.MT eT]jáTT  

8�d+.MT nsTTq � �³ed�TïeÚ jîTT¿£Ø �|�]Ôá\ yîÕXæ\«eTT (�d+.MT
2
 \ýË) 

 1. 418.48 
 2. 408.84 

 3. 414.86 
 4. 521.48 
 

73. If the height of an equilateral triangle is  x cm then its area is  
(in cm2) 

ÿ¿£ d�eTu²V�Q çÜuó�TÈeTT jîTT¿£Ø mÔáTï x �d+.MT nsTTq <�� yîÕXæ\«eTT  

(�d+.MT
2
 \ýË) 

 1. 
2

3
x  

 2. 
2

3
x  

 3. 23
4

x  

 4. 24
3

x
 

 
  



74. The ratios of the radius and height of a cylinder is 3 : 2.  If the radius 
21cm then its volume is (cm3) 

ÿ¿£ d�Ö�|�eTT jîTT¿£Ø y�«kÍsÁ�eTT eT]jáTT mÔáTï\ �w�ÎÜï 3 : 2. y�«kÍsÁ�eTT  

21 �d+.MT. nsTTq <�� |��Tq|�]eÖDeTT (�d+.MT
3
) 

 1. 18404 
 2. 19504 

 3. 19404 
 4. 18304 
 

75. AB, CD, PQ are perpendicular 
to BD.  AB = x, CD = y and 
PQ = z then z is equal to  

AB, CD, PQ \T BD ¿ì ^d¾q 

\+u²\T AB = x, CD = y 

eT]jáTT PQ = z  nsTTq z  ¿ì 

d�eÖqyîT®q~. 

 1. x y
xy
+  

 2. xy
y x-

 

 3. xy
x y+

 

 4. x y
xy
-

 
  



76. The angles of a triangle are 3 40
2

o

xæ ö-ç ÷
è ø

, ( )30 ox -  and 1 20
2

o

xæ ö-ç ÷
è ø

 

then sum of two angles is (in degrees) 

ÿ¿£ çÜuó�TÈ ¿ÃD²\T 
3 40
2

o

xæ ö-ç ÷
è ø

, ( )30 ox - eT]jáTT 
1 20
2

o

xæ ö-ç ÷
è ø

nsTTq 

Âs+&�T ¿ÃD²\ yîTTÔáïeTT (&�ç^\ýË) 

 1. 110 
 2. 80 
 3. 60 

 4. 120 
 

77. In a trapezium ABCD where AB P  DC, diagonals AC, BD are 
intersect each other at the point ‘O’.  If AB = 2CD then the ratio of 
areas of ΔAOB and ΔCOD is  

çfÉ|¾�jáT+ ABCD  ýË AB P  DC eT]jáTT ¿£s��\T AC, BD \T »Oµ  

e<�Ý K+&�+#áT¿=+{²sTT.  AB = 2CD nsTTq ΔAOB eT]jáTT ΔCOD 

yîÕXæ\«eTT\ �w�ÎÜï  

 1. 1 : 4 

 2. 4 : 1 
 3. 2 : 1 
 4. 1 : 2 
 

 
  



78. The hypotenuse of a right angled triangle is 6m more than twice of 
the shortest side.  If the third side is 2m less than the hypotenuse 
then its perimeter is (in cm) 

ÿ¿£ \+�¿ÃD çÜuó�TÈeTTýË ¿£sÁ�eTT, <�� nÜºq� uó�TC²�¿ì Âs{ì¼+|�Ú¿£H��  

6 MT. mÅ£�Øe.  eTÖ&�euó�TÈeTT ¿£sÁ�eTT¿£H�� 2 MT. ÔáÅ£�Øe nsTTq <��  

#áT³T¼¿=\Ôá (�d+.MT.\ýË) 

 1. 75 
 2. 60 

 3. 40 
 4. 85 
 

79. PQR is a triangle right angled at P and M is a point on QR such that 
PM ^ QR then PM2 is equal to   

PQR çÜuó�TÈeTTýË \+�¿ÃDeTT P e<�Ý ¿£\<�T. PM ^ QR n>·Tq³T¢ QR 

�|Õ _+<�TeÚ M nsTTq PM2
 ¿ì d�eÖqyîT®q~. 

 1. QM × PQ 

 2. PR × PQ 
 3. QM × MR 
 4. QM × PM 

  



80. If in ΔABC, DE P  BC, AD = x, DB = x – 2, AE = x + 2 and  
EC = x – 1 then x is equal to  

ΔABC q+<�T DE P  BC, AD = x, DB = x – 2, AE = x + 2 eT]jáTT  

EC = x – 1 nsTTq x  ¿ì d�eÖqyîT®q~. 

 1. 2 

 2. 4 
 3. 6 
 4. 8 

 

 

81. If ( ) ( )cos logf x x=  then 1 1  f f
x y

æ öæ ö
ç ÷ ç ÷
è ø è ø

 – ( )1
2

xf xy f
y

é ùæ ö
+ =ê úç ÷

è øë û
 

( ) ( )cos logf x x=  nsTTq 
1 1  f f
x y

æ öæ ö
ç ÷ ç ÷
è ø è ø

 – ( )1
2

xf xy f
y

é ùæ ö
+ =ê úç ÷

è øë û
 

 1. 0 

 2. ( )f x  

 3. ( ) ( )f x f y+  

 4. ( ) ( )f x f y´  
  



82. The domain of the function ( )
2

2 1 14 sin
2

xf x x
x

- æ ö+
= - + ç ÷

è ø
 

( )
2

2 1 14 sin
2

xf x x
x

- æ ö+
= - + ç ÷

è ø
 nqTç|�yûTjáTeTT jîTT¿£Ø ç|�<ûXøeTT 

 1. [ ]1, 1-  

 2. { }1, 1-  

 3. { }0  

 4. { }2, 2-  
 

 

83. If  
2 0 0 0 0 0

, B = , C = 
3 0 1 2 3 4

A
é ù é ù é ù

= ê ú ê ú ê ú
ë û ë û ë û

 then 

2 0 0 0 0 0
, B = , C = 

3 0 1 2 3 4
A

é ù é ù é ù
= ê ú ê ú ê ú

ë û ë û ë û
 nsTTq 

 1. AB = AC = 0 

 2. AB  = 0,  AC  ≠  0 
 3. AB ≠ 0,  AC ≠ 0 
 4. AB ≠ 0,  AC = 0 

  



84. 
2 2 2

1 1 1
a b c

a bc b ca c ab- - -
  =  __________ 

 1. 0 
 2. 1 

 3. abc 
 4. (a – b) (b – c) (c – a) 
 

85. 1 1 1    
1 2 2 1w w w

+ -
+ + +

  =  _________ 

 1. w 

 2. w2 

 3. a2 + b2 
 4. 0 
 

86. If  x = cis α,  y = cis β  then 3 4
3 4
1x y

x y
-  = _______ 

 x = cis α,  y = cis β nsTTq 3 4
3 4
1x y

x y
-  = _______ 

 1. 2i cos (3α + 4β) 

 2. 2i cos (3α – 4β) 
 3. 2i sin (3α + 4β) 
 4. 2i sin (3α – 4β) 

  



87. The solution of  20 4 4 1x x x+ + + = -   is  ________ 

20 4 4 1x x x+ + + = -   nqT d�MT¿£sÁDeTT jîTT¿£Ø kÍ<ó�q ______ 

 1. { }2  

 2. { }3  

 3. { }4  

 4. { }5  

 

88. If  α, β, γ  are roots of  3 2 0x px qx r+ + + =  then 2
1

a
æ ö
ç ÷
è ø

å  = ______ 

α, β, γ  nqTq$ 3 2 0x px qx r+ + + =  � d�MT¿£sÁDeTT jîTT¿£Ø eTÖ\eTT 

nsTTq 2
1

a
æ ö
ç ÷
è ø

å  = ______ 

 1. 
2

2
2q pr

r
-  

 2. 3 23 3q pq r- +  

 3. 
2

2
2p q

r
-  

 4. 
3

pq
r -

 

  



89. If  3 22 :nC nC  =  44 : 3 then n = ______  

3 22 :nC nC  =  44 : 3  nsTTq n $\Te ______ 

 1. 8 

 2. 2 
 3. 4 

 4. 6 

 

90. If the coefficients of x7 and x8 in 2
3

nxæ ö+ç ÷
è ø

 are equal then n = ______ 

2
3

nxæ ö+ç ÷
è ø

 nqT $d�ïsÁDjáT+<�T x7,  x8
 >·TD¿£eTT\T d�eÖqeTT>±qTq� 

n  $\Te ______ 

 1. 45 

 2. 55  
 3. 35  
 4. 27 

  



91. 31 2
0 2 3 ......

2 2 2 2
n
n

C CC CC + + + + +  =  _________ 

 1. 3
2

n
æ ö
ç ÷
è ø

 

 2. 2
3

n
æ ö
ç ÷
è ø

 

 3. 5
3

n
æ ö
ç ÷
è ø

 

 4. 3
5

n
æ ö
ç ÷
è ø

 

 

92. If the lines 0ax hy g+ + = ,   0hx by f+ + = , 0gx fy c+ + =  to be 
concurrent is _________ 

0ax hy g+ + = ,  0hx by f+ + = , 0gx fy c+ + =  nqTw�ÔáïeTT\T nsTTq 

$\Te _________ 

 1. a + b + c = 0, f + g + h = 0 

 2. a2 + b2 + c2 = 0,  f2 + g2 + h2 = 0 
 3. abc + 2fgh – af2 – bg2 – ch2 = 0,  
 4. af + bg + ch = 0 

  



93. The reflection of the point (–1, 3) in the line 5x – y – 18 = 0 is ____ 

(–1, 3) nqT _+<�TeÚ qT+º 5x – y – 18 = 0 d�sÁÞø¹sK <��cÍ¼«  

ç|�Ü_+�eTT ____ 

 1. (2, 1) 

 2. (0, 0) 
 3. (9, 1) 

 4. (–2, –3) 

 

94. The equation to the pair of bisectors of angles between the pair of 
lines 2x2 – 3xy + y2 = 0 is ________ 

2x2 – 3xy + y2 = 0 nqT ¹sU²jáTT>·�eTT jîTT¿£Ø ¿ÃD d�eT~ÇK+&�q 

¹sU²jáTT>·� d�MT¿£sÁDeTT ________ 

 1. 3x2 + 2xy – 3y2 = 0  

 2. 3x2 – 2xy + 3y2 = 0 

 3. 3x2 + 2xy + 3y2 = 0 

 4. 3x2 – 2xy – 3y2 = 0 

 

95. The equation of the circle passing through (0, 0), (0, a), (a, 0) is ____ 

(0, 0), (0, a), (a, 0) nqT _+<�TeÚ\>·T+&� bþeÚ#áÖ �+&î&� e�Ôáï 

d�MT¿£sÁDeTT ____ 

 1. x2 + y2 + ax + ay = 0 
 2. x2 + y2 – ax – ay = 0 

 3. x2 + y2 + 2ax + 2ay = 0 
 4. x2 + y2 = a2 + b2 

  



96. The pole of the line  2x – 3y + 25 = 0 w.r. to x2 + y2 = 25 is _______ 

2x – 3y + 25 = 0  nqT d�sÁÞø¹sKÅ£� x2 + y2 = 25 nqT e�ÔáïeTT <��cÍ¼« 

<ó��eeTT _______ 

 1. (0, 3) 

 2. (1, 3) 
 3. (–2, 3) 

 4. (2, 3) 
 

97. The number of common tangents to the two circles x2 + y2 = 1 and  
x2 + y2 – 2x – 6y + 6 = 0 is _________ 

x2 + y2 = 1 eT]jáTT x2 + y2 – 2x – 6y + 6 = 0 nqT e�ÔáïeTT\Å£� >·\ 

�eT�&� d�ÎsÁô¹sK\ d�+K« _________ 

 1. 3 

 2. 1 
 3. 2 
 4. 4 

 

98. The length of the latus rectum of the parabola  y2 + 8x – 4y – 4 = 0  
is _______   

y2 + 8x – 4y – 4 = 0 nqT |�s�e\jáTeTT jîTT¿£Ø H�;ó\+�eTT  

bõ&�eÚ _______ 

 1. 2 
 2. 1 

 3. 8 
 4. 3 

  



99. The eccentricity of the ellipse 9x2 + 5y2 – 30y = 0 is ________ 

9x2 + 5y2 – 30y = 0 nqT BsÁée�ÔáïeTT jîTT¿£Ø $ÔY¹¿+ç<�Ôá ________ 

 1. 1
3

 

 2. 2
3

 

 3. 3
4

 

 4. 1
2  

 

100. If  the vertices of a triangle are (2, 3, 5), (–1, 3, 2), (3, 5, –2) then the 
angles are _________   

(2, 3, 5), (–1, 3, 2), (3, 5, –2) nqT _+<�TeÚ\T osÁüeTT\T>± >·\ çÜuó�TÈeTT 

q+<�* ¿ÃDeTT\T _________ 

 1. 30o, 30o, 120o 

 2. 1 1
5

cos- ,  90o,  1 5
3

cos-  

 3. 30o, 60o, 90o 

 4. 1 1
3

cos- ,  90o,  1 2
3

cos-  

 
  



101. The equation of the plane through the points (1, –2, 2) (–3, 1, –2) 
and perpendicular to the plane x + 2y – 3z = 5 is _______ 

(1, –2, 2) (–3, 1, –2) nqT _+<�TeÚ\>·T+&� bþeÚ#áÖ x + 2y – 3z = 5 
nqT Ôá\eTTqÅ£� \+�eTT>± qT+&î&� Ôá\eTT jîTT¿£Ø d�MT¿£sÁDeTT 

 1. x + 16y + 11z + 9 = 0 
 2. x + 16y – 11z + 37 = 0 
 3. x + y + z – 2 = 0 

 4. x – 5y – 3z = 0 
 

102. If A + B + C = 90o then cos 2A + cos 2B + cos 2C = _______   

A + B + C = 90o  nsTTq cos 2A + cos 2B + cos 2C = _______ 

 1. 1 + 4 sin A sin B sin C 
 2. 1 – 2 sin A sin B sin C 

 3. 2 + 2 sin A sin B sin C 
 4. 4 sin A sin B sin C 

  



103. If  1 11 2cot
2 1 4

x xTan
x x

p- -- +æ ö æ ö+ =ç ÷ ç ÷- +è ø è ø
  then  x = __________ 

1 11 2cot
2 1 4

x xTan
x x

p- -- +æ ö æ ö+ =ç ÷ ç ÷- +è ø è ø
 nsTTq x $\Te _________ 

 1. 1
2

 

 2. 1
2

±  

 3. 1
3

±  

 4. 1
3  

 

104. In a ΔABC, if a : b : c = 7 : 8 : 9 then cos A : cos B : cos C = ______  

çÜuó�TÈeTT ABC q+<�T a : b : c = 7 : 8 : 9 nsTTq cos A : cos B : cos C 
=  ______ 

 1. 7 : 9 : 11 

 2. 14 : 11 : 6 
 3. 7 : 19 : 25 
 4. 8 : 6 : 5 

 
  



105. In ΔABC, 31 2 r rr r r r
a b c

-- -
+ +  = _________ 

çÜuó�TÈeTT ABC q+<�T 31 2 r rr r r r
a b c

-- -
+ +  = _________ 

 1. 1 2 3

3
r r r+ +  

 2. 1 2 3

2
r r r

s
+ +  

 3. 1 2 3

4
r r r

s
+ +  

 4. 1 2 3r r r
s

+ +

 
 

106. If D is the mid point of the side BC of ΔABC then AB
uuur

 + AC
uuur

  = 

çÜuó�TÈeTT ABC q+<�T D nqTq~ BC eT<ó�« _+<�TeÚ nsTTq  

AB
uuur

 + AC
uuur

  = 

 1. AD
uuur

 

 2. 2AD
uuur

 

 3. 3AD
uuur

 

 4. 4AD
uuur

 
  



107. If  a  = 3,  b  = 4 and a b+  = 1 then a b-  = _________ 

a  = 3,  b  = 4  eT]jáTT a b+  = 1 nsTTq a b-  = _________ 

 1. 5 

 2. 6 
 3. 7 
 4. 8 

 

108. If  x a×  = 0,  x b´  = c b´  then x  = __________ 

x a×  = 0,  x b´  = c b´   nsTTq x  = __________ 

 1.  c ac b
b a

×
-

×
 

 2.  c ac a
c b

×
-

×
 

 3.  c aa b
c b

×
-

×
 

 4.  c ab b
c b

×
-

×
 

  



109. ( ) ( )a b c d´ × ´ = ___________ 

 1. 
a c a d

b c b d

× ×

× ×
 

 2. 
a c b d

a d b c

× ×

× ×
 

 3. 
a c b d

b c a d

× ×

× ×
 

 4. 0 
 

110. ( )
0 2

cos log 1
x

x x x
Lt

x®

- +
 = ___________ 

 1. 1
2

 

 2. 0 

 3. 1 
 4. e2 
 

  



111. If the function  ( ) ( ) ( )log 1 log 1ax bx
f x

x
+ - -

=   is continuous at      

x = 0 then ( )f o  = ___________ 

( ) ( ) ( )log 1 log 1ax bx
f x

x
+ - -

=  nqT ç|�yûTjáTeTT x = 0 e<�Ý  

n$ºÌÛq�eTT #î+<�T#áTq� ( )f o  = ___________ 

 1. a – b  

 2. a + b 
 3. log a + log b 
 4. log a – log b 

 
 

112. 1 sin
1 sin

d x
dx x

æ ö+
ç ÷

-è ø
 = _________ 

 1. 1
1 sin x+

 

 2. 1
1 sin x-

 

 3. 1
1 cos x+

 

 4. 1
1 cos x-

 

 

  



113. If  ( )f a  = 2,  ( )1f a  = 1, ( )g a  = –1, ( )1g a  = +2 then 

( ) ( ) ( ) ( )
x a

g x f a g a f x
Lt

x a®

-
-

 = __________ 

( )f a  = 2,  ( )1f a  = 1, ( )g a  = –1, ( )1g a  = +2 nsTTq 

( ) ( ) ( ) ( )
x a

g x f a g a f x
Lt

x a®

-
-

 = __________ 

 1. –5 

 2. 1
5

 

 3. 5 

 4. 1
5
-

 
 

114. In a cube the percentage of increase in the side is 1.  The percentage 
increase in volume is _________ 

ÿ¿£ |��TqeTT q+<�* uó�TÈeTTq+<�T ÿ¿£ XæÔáeTT �|sÁT>·T<�\ �q�jîT&�\ <�� 

|��Tq|�]eÖDeTT q+<�* �|sÁT>·T<�\ XæÔáeTT 

 1. 2 

 2. 1
2

 

 3. 1
3

 

 4. 3 

 
  



115. The equation of tangent to the curve y(x–2) (x–3) – x+7 = 0 where 
the curve cuts x-axis is ________  

y(x–2) (x–3) – x+7 = 0  nqT eç¿£eTT x-n¿£�eTTqT K+&�+#î&� _+<�TeÚ 

e<�Ý d�ÎsÁô¹sU² d�MT¿£sÁDeTT ________ 

 1. 20x + y – 140 = 0 

 2. x – 20y = 7 
 3. 20x – y + 140 = 0 
 4. x + 20y + 7 = 0 
 

116. 
3

1
sin cos

dx
x x

ò  =  ____________ 

 1. 2
tan

c
x

-
+  

 2. 2  Tan x c+  

 3. 2 c
Tanx

+  

 4. 2  Tan x c- +  

 
  



117. 2 2
1

4cos 9sin
dx

x x+ò  = ___________ 

 1. 11 3  
6 2

Tan Tan x c- æ ö +ç ÷
è ø

 

 2. 11 3  
3 2

Tan Tan x c- æ ö +ç ÷
è ø

 

 3. 11 3  
6 5

Tan Tan x c- æ ö +ç ÷
è ø

 

 4. 11 3  
6 5

Sin Sin x c- æ ö +ç ÷
è ø

 

 

118. 
3

2 5
x dx

x x- +ò  

 1. 1
2

 

 2. 3
2

 

 3. 5
2

 

 4. 0 

 
  



119. ( )
5

22 2

0

a

a x dx-ò  = ____________ 

 1. 
62

32
ap  

 2. 
65

32
ap  

 3. 
65

16
ap  

 4. 
63

35
ap  

 

120. The solution of ( )23 cos dx + 1 cot dyx xe y e y-  = 0 is ________  

( )23 cos dx + 1 cot dyx xe y e y-  = 0 nqT d�MT¿£sÁDeTT jîTT¿£Ø  

kÍ<ó�q ________   

 1. Tan y = ( )3
1xc e -  

 2. Tan y = ( )3
1xc e +  

 3. Tan y = ( )2
1xc e -  

 4. Cos y = ( )3
1xc e -

 
  



MATHS METHODOLOGY 

 

121. Asking the students to verify the solution after solving the equation, 
inculcates one of these values  

 1. Utilitarian 
 2. Disciplinary 

 3. Cultural 
 4. Social 

$<�«sÁT�\T d�MT¿£sÁD kÍ~ó+ºq ÔásÁTy�Ôá eºÌq |��*Ô��� d�]#áÖd�T¿ÃeT�  

#î|�Î&�+ <�Çs� �|+bõ+~+#á�&û $\Te  

1. ç|�jîÖÈH�Ôá�¿£ 

2. ç¿£eT¥¿£�D 

3. kÍ+d�Ø �Ü¿£ 

4. kÍeÖ�¿£  

  



122. “Mathematics is a way to settle in the mind a habit of reasoning”, 
was defined by   

 1. Locke 

 2. Bertrand Russel 
 3. Aristotle  
 4. Bacon 

»»�V²ÔáTy�<�+ýË eÖqeÚ� yûT<�̧d�Tà d¾�sÁ|�&û eÖsÁZ+ >·DìÔá+µµ n�  

�sÁÇº+ºqy�sÁT 

1. ý²¿ù 

2. �sY¼Âs+&� sÁd�àýÙ 

3. �]kÍ¼{ìýÙ 

4. uñ¿£H� 

 

123. The method that is economical in terms of time   

 1. Inductive   
 2. Synthetic 

 3. Analytic 
 4. Heuristic 

d�eTjáÖ�� bõ<�T|�Ú #û�d |�<�ÆÜ 
1. �>·eTq 

2. d�+Xâ¢w�D 

3. $Xâ¢w�D 

4. nHûÇw�D 

  



124. The correct order of sequence (concrete to abstract) of learning 
experiences in Edgar Dale’s cone of experiences is  

 1. Pictorial, Direct, Abstract 

 2. Direct, Abstract, Pictorial  
 3. Abstract, Pictorial, Direct 
 4. Direct, Pictorial, Abstract 

m&�ZsY &ûýÙ nqTuó�e Xø+KTeÚýË d�ÂsÕq ç¿£eT+ýË (eTÖsÁïeTT qT+&�  

neTÖsÁïeTTqÅ£�) nuó�«d�H�qTuó�y�\T M{ìýË ÿ¿£{ì 
1. <��Xø«, ç|�Ôá«¿£�, neTÖsÁï 

2. ç|�Ôá«¿£�, neTÖsÁï, <��Xø« 

3. neTÖsÁï, <��Xø«, ç|�Ôá«¿£� 

4. ç|�Ôá«¿£�, <��Xø«, neTÖsÁï 

 

125. Unit approach of lesson plan was designed by   

 1. Morrison   
 2. Herbart 

 3. Bloom 
 4. Gloverian 

bÍsÄÁ« |�<�̧¿£ ÔájáÖ¯ýË jáTÖ�{Ù �|�>·eT+ (Unit approach) 
ç|�yûXø�|{ì¼qy�sÁT 

1. yîÖ¯d�H� 

2. V�²sY�sY¼ 

3. �Ö¢y�T 

4. >Ã¢yû]jáTH� 

 

 

 



126. One of the following cannot be used in stating the objectives 

 1. should be clear  
 2. should be valid 

 3. should combine two specifications 
 4. should be attainable 

ç¿ì+~ y�{ìýË ÿ¿£{ì \¿�±«\T sÁÖbõ+~+#áT³ýË �|�jîÖÐ+#áýñq³Te+{ì~ 
1. d�Îw�¼+>± �+&�* 

2. d�ç|�eÖDÔá �+&�* 

3. Âs+&�T d�ÎwÓ¼¿£sÁD\T �+&�* 

4. kÍ~ó+|�>·\>±* 

 

127. Siddantha Shiromani was written by this Mathematician  

 1. Aryabhatta  

 2. Bhaskaracharya-II 
 3. Euclid 
 4. Ramanujan 

d¾<�Æ+Ôá ¥sÃeTDì nHû ç>·+<¸��� sÁº+ºq >·DìÔá Xæçd�ïEã\T 
1. �sÁ«uó�³¼ 

2. uó²d�Øs�#�sÁ«`II 

3. jáTÖ¿ì¢&� 

4. s�eÖqTÈH� 

 

 
  



128. One of the following is not a characteristic feature of topical method 

 1. gives comprehensive knowledge 
 2. child centered method 

 3. improves concentration 
 4. logical base 

ç¿ì+~ y�{ìýË o]ü¿£ |�<�ÆÜ jîTT¿£Ø \¿£�D+ ¿±�~ 
1. d�eTç>· C²ãq+ �d�Tï+~ 

2. ¥Xø�¹¿+ç<� |�<�ÆÜ 

3. @¿±ç>·ÔáqT �|+#áTÔáT+~ 

4. Ô�]Ø¿£ �<ó�sÁ+  

 

129. Pythagoras theorem was written in the form of an equation, that is – 
In ΔABC, ÐB = 90o, AC2 = AB2 + BC2 – indicates this nature of 
mathematics 

 1. Disciplinary  

 2. Abstractness 
 3. Simplicity 
 4. Originality 

ΔABC ýË ÐB = 90o, AC2 = AB2 + BC2 nqT �|Õ<¸�>·sÁdt d¾<�Æ+ÔáeTTqT 

�|Õ sÁÖ|�+ýË çy�d¾q, �~ >·DìÔáXæçd�ï+ jîTT¿£Ø � d�Çuó²y��� Ôî\T|�ÚÔáT+~ 
1. ç¿£eT¥¿£�D 

2. neTÖsÁï \¿£�D+ 

3. d�sÁÞø d�Çuó²eÔá 

4. d�V�²ÈÔáÇ+ 

  



130. “Pupil classifies the given geometrical figures” – this relates to this 
objective  

 1. Knowledge 

 2. Understanding  
 3. Application 
 4. Skill 

$<�«]� C²«$TrjáT |�{²\qT e Z̄¿£]kÍï&�T, nqT d�ÎwÓ¼¿£sÁD � \¿�±«�¿ì  

d�+�+~ó+º+~ 
1. C²ãq+ 

2. ne>±V�²q 

3. $�jîÖ>·+ 

4. HîÕ|�ÚD«+  

 

131. In Hunter’s score card of evaluating the textbook more weightage 
has been given to this dimension 

 1. Psychological soundness 

 2. Subject matter 
 3. Literary style 
 4. Learning exercise 

bÍsÄÁ«|�Úd�ï¿£ eTÖý²«+¿£q #û�d V�²+³sY >·Dq ¿±sÁT¦ýË mÅ£�Øe uó²sÁÔáÇ+  

�eÇ�&�q n+Xø+ 
1. eTHÃyîÕC²ã�¿£ �<ó�s�\T 

2. $w�jáT C²ãq+ 

3. uó²cÍXèÕ* 

4. nuó�«d�q nuó²«kÍ\T  

  



132. One of the following is not an aim of Formative Evaluation  

 1. Testing pupils learning 
 2. Comparing the students 

 3. Improving learning atmosphere 
 4. Self evaluation by the teacher 

ç¿ì+~ y�{ìýË ÿ¿£{ì sÁÖbÍÔá�¿£ eTÖý²«+¿£q �<ûÝXø«+ ¿±<�T 
1. $<�«sÁT�\ nuó�«d�qqT |�̄ ¿ì�+#áT³ 

2. $<�«sÁT�\qT bþ\TÌ³ 

3. nuó�«d�q y�Ô�esÁD²�� yîTsÁT>·T|�sÁT#áT³ 

4. �bÍ<ó�«jáTT� dÓÇjáTeTÖý²«+¿£q 

 

133. The strategy that cannot be suggested for gifted children  

 1. enrichment of content  

 2. repetition of topics that were already taught 
 3. assigning project work 
 4. to solve challenging problems 

ç¿ì+~ y�{ìýË ç|�Üuó²e+ÔáTýÉÕq $<�«sÁT�\Å£� d�Öº+#áýñq³Te+{ì~ 
1. $w�jáT |�ÚwÓ¼¿£sÁD 

2. uË~ó+ºq n+Xæ�� eTsÁ\ uË~ó+#á&�+ 

3. çbÍCÉÅ£�¼|�� n|�ÎÐ+#á&�+ 

4. ¿ì¢w�¼ d�eTd�«\qT |�]w�Ø]+#áT³ 

  



134. In the context of development of Mathematics curriculum, “the 
unuseful content in the syllabus, the topics depending on old 
concepts have to be deleted”, was stated by   

 1. Secondary Education Commission (1952-53)  

 2. Cambridge Report – 1963  
 3. Kothari Commission (1964-66) 
 4. National Policy of Education – 1986  

>·DìÔáXæçd�ï $<�«ç|�D²[¿±_óe�~Æ¿ì, »»d¾\�dtýË �|�jîÖ>·¿£sÁ+>± ýñ�, |�Ús�Ôáq 

uó²eq\�|Õ �<ó�sÁ|�&û n+Xæ\qT Ô=\Ð+#�*µµ, n� Ôî*|¾q~ 

1. �d¿£+&�] $<�«¿£MTw�H� (1952`53) 

2. ¹¿y�Tç_&�̈ ]bþsY¼ (1963) 

3. ¿=sÄ�] ¿£MTw�H� (1964`66) 

4. C²rjáT $<�«$<ó�q+ (NPE – 1986) 

 
 

135. One of the following provides least concrete learning experience in 
Mathematics 

 1. Exhibits 

 2. Still pictures 
 3. Audio recording 

 4. Model 

>·DìÔá+ýË ç¿ì+~ y�{ìýË ÿ¿£{ì ÔáÅ£�Øe eTÖsÁï nqTuó�e+ ¿£*Ðd�Tï+~ 
1. ç|�<�]ôÔ�\T 

2. d¾�sÁºçÔ�\T 

3. Xæ_Ý¿£ ]¿±]¦+>́ 

4. qeTÖH� 

  



136. The lesson plan based on interrelationship among objectives, 
learning experiences and evaluation was proposed by   

 1. Bloom  

 2. Herbart 
 3. Morrison 
 4. Gloverian 

\¿�±«\T, nuó�«d�q nqTuó�y�\T eT]jáTT eTÖý²«+¿£q, M{ì d�V�²d�+�+<ó�+ÔÃ 

bÍsÄÁ«ç|�D²[¿£ ç|�yûXø�|{ì¼qy�sÁT  

1. �Ö¢y�T 

2. �V²sYÒsY¼ 

3. yîÖ]d�H� 

4. >Ã¢yû]jáTH� 

 

137. The evaluation suitable to find the causes of learning difficulties   

 1. Formative  
 2. Summative 

 3. Diagnostic 
 4. Prognostic 

$<�«sÁT�ýË¢ nuó�«d�q ç|�Ü �+<ó�¿±\Å£� (learning difficulties) ¿±sÁD²\T 

¿£qT>=qT³Å£� ÔáÐq eTÖý²«+¿£q+ 
1. sÁÖbÍÔá�¿£ 

2. d�+¿£\q 

3. ýË|��s�ÝsÁD 

4. çbÍ>·T¿ìï¿£ 

  



138. This method is based on psychological laws of learning (readiness, 
exercise, effect)  

 1. Project  

 2. Analytic 
 3. Synthetic 
 4. Deductive 

ç¿ì+~ y�{ìýË eTHÃyîÕC²ã�¿£ nuó�«d�q d�ÖçÔ�\T (d�+d¾<�ÆÔá, nuó²«d�+, |��*Ôá+)  

�|Õ �<ó�sÁ|�&û uË<ó�H�|�<�ÆÜ 
1. ç|�¿£\Îq 

2. $Xâ¢w�D 

3. d�+Xâ¢w�D 

4. �>·eTq 
 

139. Pupil records the probable findings while tossing a coin number of 
times in a tabular form.  The academic standard achieved here is   

 1. Problem solving   
 2. Connection 
 3. Reasoning and proof 

 4. Visualisation and representation 

$<�«]� H�D²�� nHû¿£kÍsÁT¢ m>·TsÁyûd¾ d�+uó²e«ÔáqT |�{ì¼¿£sÁÖ|�+ýË  

bõ+<�T|�sÁTkÍï&�T. �¿£Ø&� kÍ~ó+ºq $<�«ç|�eÖD+ 
1. d�eTd�« kÍ<ó�q 

2. nqTd�+<ó�q+ 

3. ¿±sÁD²\T #î|�Î&�+ �sÁÖ|�D #ûjáT&�+ 

4. <��o«¿£sÁD eT]jáTT çbÍÜ�<ó�«|�sÁ#á&�+ 

 

 

 



140. One among the following is a limitation of objective test 

 1. Diagnostic value 
 2. Broad content coverage 

 3. Reliability of scoring 
 4. Testing higher order mental abilities  

ç¿ì+~ y�{ìýË ÿ¿£{ì $w�jáT�w�¼sÁÖ|� |�̄ ¿£�\ (objective test) |�]$TÜ 
1. ýË|��s�ÆsÁD $\Te 

2. mÅ£�Øe $w�jáÖ\qT d�Î�¥d�Tï+~ 

3. >·DqýË¢ $XøÇd�újáTÔá 

4. �V²#áTÌkÍ�sTT eÖqd¾¿£ kÍeTs��«\T |�̄ ¿ì�+#á&�+ 

 

141. The laws of exponents are generalized with examples in this method  

 1. Inductive  
 2. Deductive 

 3. Analytic 
 4. Synthetic 

� uË<ó�H� |�<�ÆÜýË �<�V�²sÁD\ÔÃ |��ÖÔ�+¿£ H�«jáÖ\T (laws of  
exponents) kÍ<ó�sÁD¡¿£sÁD #ûjáT�&�Ô�sTT 
1. �>·eTq 

2. �>·eTq 

3. $Xâ¢w�D 

4. d�+Xâ¢w�D 

  



142. Some parts of curriculum topics related to geometry are introduced 
in the same class with a gap of 3-4 months, the method of 
curriculum organisation here is    

 1. Topical   

 2. Concentric 
 3. Spiral  
 4. Logical  

ÿ¹¿ ÔásÁ>·ÜýË, 3`4 Hî\\ ¿±\e«e~óÔÃ C²«$TÜýË ¿=��uó²>±\T ¿£]Å£�\+ýË 

ç|�yûXø�|³¼�&îqT ` � ¿£]Å£�\+ �sÁÇV�²D |�<�ÆÜ 

1. o]ü¿£ 

2. @¿£¹¿+ç<� 

3. d�]Î\ 

4. Ô�]Ø¿£ 
 

 

143. To enable the pupil to become proficient in the four fundamental 
operations (+, –, ×, ÷).  The connected aim here is    

 1. Practical   
 2. Social  

 3. Disciplinary  
 4. Cultural 

$<�«]�� H�\T>·T #áÔáT]Ç<�, |�]ç¿ìjáT\ (+, –, ×, ÷) ýË HîÕ|�ÚD«eTT\T 

kÍ~ó+|�#ûjáTT³, B�¿ì d�+�+~ó+ºq �<ûÝXø«+ 
1. �#ásÁD²Ôá�¿£ 

2. kÍeÖ�¿£ 

3. ç¿£eT¥¿£�D 

4. kÍ+d�Ø�Ü¿£ 

 



144. The best suitable strategy to slow learners among the following  

 1. Responsibility of Maths club 
 2. Opportunity for independent learning  

 3. Enriched syllabus 
 4. Instruction is in the form of learning by using multiple senses 

�ç¿ì+~ y�{ìýË eT+<��T~Æ>·\ $<�«sÁT�\Å£� (slow learners) d�Öº+#á>·*¹> 

eP«V�²+ 
1. >·DìÔád�+|��T+ u²<ó�«Ôá 

2. kõ+Ôá>± nuó�«d�q+ #û�d ne¿±Xø+ 

3. |�Úw¾¼¿£sÁyîT®q d¾\�dt 

4. nuó�«d�q+ýË �V�QÞø C²ãHû+ç~jáÖ\T $�jîÖÐ+#û uË<ó�q  

 

145. One of the topic does not belong to Applied Mathematics 

 1. Linear Programming   

 2. Statistics 
 3. Probability  

 4. Number theory  

ç¿ì+~ y�{ìýË nqTç|�jáTT¿£ï >·DìÔáXæçd�ïeTTqÅ£� #î+<�� ÿ¿£ n+Xø+ 
1. ¹sFjáT ¿±sÁ«ç¿£eT+ $<ó�q+ 

2. kÍ+K«¿£ Xæçd�ï+ 

3. d�+uó²e«Ôá 

4. d�+U²«y�<�+  

 

 

 

 

 



146. The four basic principles of problem solving were introduced by  

 1. Polya 
 2. Thales 

 3. Ptolemy 
 4. Euclid 

d�eTd�« kÍ<ó�qýË H�\T>·T çbÍ<�̧$T¿£ �jáTeÖ\T ç|�yûXø�|{ì¼qy�sÁT 
1. bþý²« 

2. ÔûýÙà 

3. {Ë\$T 

4. jáTÖ¿ì¢&� 

 

 

147. One of the following learning experience is an example of contrived 
experience 

 1. Model 

 2. Still picture 
 3. Drama 
 4. Exhibits 

¿£*ÎÔá nqTuó�y��¿ì �<�V�²sÁDjî®Tq ÿ¿£ nuó�«d�q nqTuó�e+ 
1. qeTÖH� 

2. d¾�sÁºçÔá+ 

3. H�{ì¿£ 

4. ç|�<�]ôÔ�\T 

  



148. The Mathematical technique that is useful in orderly presentation of 
ideas and steps is   

 1. Oral work 

 2. Written work 
 3. Drill work  
 4. Supervised study 

�ýË#áq\T, kþbÍH�\qT esÁTd�ç¿£eT+ýË ç|�yûXø�|³T¼³Â¿Õ �|�jîÖ>·|�&û >·DìÔá 

eP«V�²+ 
1. eTòÏ¿£ |�� 

2. çy�Ôá |�� 

3. �esÁïqeTT  

4. |�sÁ«yû¿ì�Ôá n<ó�«jáTq+ 

 

149. Heuristic method was introduced by   

 1. Francis Bacon 
 2. Pestalozi 

 3. Aristotle 
 4. Armstrong 

nHûÇw�D |�<�ÆÜ ç|�yûXø�|{ì¼qy�sÁT 
1. çb�Í�àdt uÉ¿£H� 

2. �|kÍ¼\� 

3. �]kÍ¼{ìýÙ 

4. �sY�çkÍ¼+>´ 

  



150. To honour the contributions of Sri Srinivasa Ramanujan to 
Mathematics, Government of India has declared this as the “Year of 
Mathematics”.  

l l�y�d� s�eÖqTÈH� >·DìÔáXæçd�ïeTTqÅ£� n+~+ºq nyîÖ|��TyîT®q �de\Å£�  

C²ã|�¿±sÁ�+>± uó²sÁÔáç|�uó�TÔáÇ+#û »»>·DìÔá d�+eÔáàsÁ+µµ>± ç|�¿£{ì+|��&�q  

d�+eÔáàsÁ+ 

 1. 1887  
 2. 1937 

 3. 1987 
 4. 2012 

 

151. To solve problems in Arithmetic, “The method of false position” 
was used by this mathematician   

 1. Aryabhatta  

 2. Bhaskaracharya-II 
 3. Pythagoras 
 4. Ramanujan 

n+¿£>·DìÔá d�eTd�« kÍ<ó�qýË, “The method of false position” qT  

nqTd�]+ºqy�sÁT 
1. �sÁ«uó�³¼ 

2. uó²d�Øs�#�sÁ«-II 

3. �|Õ<¸�>·sÁdt 

4. s�eÖqTÈH� 

  



 

152. Continuous Comprehensive Evaluation emphasizes one of these 
aspects with respect to pupil 

 1. Only scholastic areas  

 2. Only non scholastic areas 
 3. Rote memorization 

 4. Overall development  

$<�«]�¿ì d�+�+~ó+ºq �sÁ+ÔásÁ d�eTç>· eTÖý²«+¿£q+ýË çbÍ<ó�q«Ôá >·\  

n+Xø+ 

1. ¹¿e\+ bÍsÄ�«+Xæ\T 

2. ¹¿e\+ bÍ¹sÄ«ÔásÁ n+Xæ\T 

3. �{ì¼ $<ó�q+ 

4. d�eTç>· n_óe�~Æ 

 

153. Pupil does oral calculation with speed and accuracy, this 
specification relates to the objective   

 1. knowledge 

 2. understanding  
 3. application  

 4. skill 

$<�«]� eTòÏ¿£ >·Dq\qT yû>·+>± KºÌÔá+>± #ûjáTTqT nqT d�ÎwÓ¼¿£sÁD,  

� \¿�±«�¿ì d�+�+~ó+ºq~ 

1. C²ãq+ 

2. ne>±V�²q 

3. $�jîÖ>·+ 

4. HîÕ|�ÚD«+ 

 



154. One of the following is not the use of Mathematics club  

 1. Proper use of leisure time  
 2. Substitution of class room learning 

 3. Opportunity to work in group 
 4. Inculcates the habit of self study 

ç¿ì+~ y�{ìýË ÿ¿£{ì >·DìÔá d�+|��Ö\ (club) jîTT¿£Ø ç|�jîÖÈq+ ¿±�~ 
1. r]¿£ d�eTjáT+ d�ç¿£eT+>± $�jîÖ>·+ 

2. ÔásÁ>·Ü>·~ nuó�«d�qÅ£� ç|�Ô�«eÖ�jáT+ 

3. d�eTÖV�²+ýË |��#û�d ne¿±Xø+ 

4. d�ÇjáT+ nuó�«d�q n\y�³TqT �|+bõ+~d�Tï+~ 

 

155. The test that measures attainment after a period of learning is called  

 1. Achievement test 
 2. Personality test 

 3. Projective test 
 4. Intelligence test 

¿=+Ôá¿±\+ nuó�«d�q+ È]Ðq ÔásÁTy�Ôá kÍ<ó�qqT eÖ|�q+ #ûjáTT |�̄ ¿£� 
1. kÍ<ó�q |�̄ ¿£� 

2. eTÖ]ïeTÔáÇ |�̄ ¿£� 

3. ç|�¹¿�|�¿£ |�̄ ¿£� 

4. ç|�C²ã|�̄ ¿£� 

  



156. In the affective domain the highest level of objective is   

 1. Responding  
 2. Valuing 

 3. Organisation  
 4. Characterisation 

ç¿ì+~y��ýË uó²y�yûXæÔá�¿£ sÁ+>·+ýË nÔáT«q�ÔáyîT®q \¿£�«+ 
1. ç|�Üd�Î+~+#áT³ 

2. $\Te¿£³T¼³ 

3. e«ekÍ�|�q 

4. \¿£�D¡¿£sÁD+ 

 

157. “Children learn to enjoy mathematics rather than fear it” – is a vision 
of  

 1. Kothari Commission (1964-66)  
 2. NPE – 1986  

 3. NCF – 2005  
 4. APSCF – 2011  

»»|¾\¢\T >·DìÔ��� uó�jáT|�&�Å£�+&� �q+<�+>± nuó�«d¾+#�*µµ ` nqT <�sÁô�¿£Ôá

>·\~ 
1. ¿=sÄ�] ¿£MTw�H� (1964-66) 

2. NPE – 1986 

3. NCF – 2005 

4. APSCF – 2011 

 
 

  



158. Explaining Mathematical logic, relates to this academic standard  

 1. Problem solving 
 2. Reasoning and proof 

 3. Communication 
 4. Connection 

>·DìÔá Ô�]Ø¿£ÔáqT $e]+#á&�+, � $<�«ç|�eÖD²�¿ì d�+�+~ó+ºq~ 
1. d�eTkÍ«kÍ<ó�q 

2. ¿±sÁD²\T #î|�Î&�+ �sÁÖ|�D #ûjáT&�+ 

3. e«¿£ï|�sÁ#á&�+ 

4. nqTd�+<ó�q+ 

 

159. “Appreciate the works of Mathematician”, relates to this value  

 1. Practical value 

 2. Cultural value 
 3. Social value 
 4. Aesthetic value 

»»>·DìÔáXæçd�ïEã\ �de\qT n_óq+~+#á&�+µµ, � $\TeÅ£� d�+�+~ó+º+~ 
1. ç|�jîÖ>±Ôá�¿£ $\Te 

2. kÍ+d�Ø �Ü¿£ $\Te 

3. kÍeÖ�¿£ $\Te 

4. kå+<�s�«Ôá�¿£ $\Te 

 

 

  



160. The number system was called as “Arithmetica” by  

 1. Greeks 
 2. Sumerians 

 3. Egyptians 
 4. Chinese 

d�+U²«$<ó�H��� »nsÁ�yîT{ì¿±µ n� |¾*ºqy�sÁT 
1. ç^Å£�\T 

2. d�TyûT]jáTH�\T 

3. ��|¾üjáTH�à 

4. #îÕújáTT\T 

 


